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OPractice Test 3B

Multiple Choice
Identify the choice that best completes the statement or answers the question.
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3. answer: é = i The perimeter of the rectangle is 42 cm. Find the value of x.
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8. answer: J Solve the equation. 2(y +2) =10
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9. answer:

Solve the proportion. (%&) 4
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13. T e sum @nsecutwé odd integers -;’s -117. Write an equation to model this situation, and find the
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14. A van travels 240 miles on 12 gallons of gas. Write and solve a function to find how many gallons the van
O needs to travel 460 miles.
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15. Acaris dr1vmg at a speed of 45 mi/h. What is the speed of the car in feet per minute?
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Solve the equation.

16. 7d+4d+5d-9=3d
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17. Write the conversmn factor for seconds to mmutes Use the factor to convert 120 seconds to minutes.

[LO% = \W\A\/\ [ NADs
i

<
18. answer: Solve the equation.}.&/— 4=3x-9
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